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10.

11.

552 ig X2(5>

T4

. X +Yis N(3,25)

P(X <¢)=P(x >1)=.05

(3,5) degrees of freedom for + and use table for F distribution.

P(IX — 22> 36) = P(X —2> .6) + P(X —2 < —.6);
X —1is N(0,4)

Y
p((1-p)/m)

Replace \/(p(1 —p)/n) by 1/ (p(1 — p)/n) where p = %

U satisfies a x2(14) distribution

is approximately N (0, 1)

% satisfies an F(9,15) distribution
2~1

St is N(0,1)

X is N(4,4) Use N(0,1) table

Y _ 2.025 \ 2.025
X \/ﬁ<,u<X—|—\/ﬁ

Trinomial distribution with fll 2zde = 2 = py; Df e o dy = = =p
2

Answer is g—ip%pz(l —p1—D2)



